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1 3 vl St & afoher & @@y i ar 9 3cafeid giar g
Which gas is produced during charging of a lead-acid battery

(a) grs3reteT / Hydrogen

(b) AT / Methane

(c) 3ftedsTeT / Oxygen

(d) Fea sE3TEFASS / Carbon dioxide

2 50 HATSSHT WS eTRAT & Teh FUIRT HI 200 dlec & [F9T FoT de arel fomar =
g1 guRT § TaRd FaT & §dsT
A capacitor of capacitance 50 micro farads is charged to a potential difference of 200
Volts. Find out energy stored in the condenser?

(@) 13et/ joule

(b) 100 f&elr Sfer/ milli joule
(c) 10 f&e ST/ milli joule
(d) 100 Sfer/ joules

3 BIS I3 & AR §-HUH & T 3UYeFd dR &I T gl &
The color of wire recommended for earth connection as per BIS code is

(@) =TeT / Red
(b) 81 / Green
(c) reT / Black
(d) #rerr / Blue

4 Teh g&] & YRIEGA & 7Y §
The permeability of a material means

(a) &I #T T&dr / strength of a material.
(b) IShrT TE] & HIAT T & W3 T TRl
The conductivity of a magnetic material to the magnetic lines of force
(©) %Tmﬂow &r gedr / Strength of an electromagnet
(d) dahel ST & AP W ollg & &3 A AV Yeohol
Magnetization remained in an iron bar on withdrawal of magnetising force

5 T& 120 Ah &THAT el ST, 8A URT &I 3afy & fav & Gahdr &
A 120 Ah capacity battery can deliver a current of 8A for a period of
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(a) 20 gc/hrs
(b) 15 &&/hrs
(c) 12 gc/hrs
(d) 8 &e/hrs

6 AREN, o], A qAT FAOIH {1 dsaTel Ueh el YA 1 AF gl § /
The resistance value of a carbon resistor having Orange, Red, Brown and Golden color
bands is
(@ 32kQ+5%

(b) 3.2kQ+5%
() 320Q+5%
(d) 32Q+5%

7 gfasessr 1 A9F §

The unit of reluctance is

(a) ampere/cm?
(b) weber/cm?
(c) ampere turns /weber

(d) ampere turns /cm?

8 U &3 d¥d & URI IR & T & yarg I G AeAfaf@d & & @l @ g2
Which among the following is the direction of flow of line of force around a bar

magnet?

(a) vdt ga & afeaelr ¢ga @ / out of the east pole into the west pole
(b) 9= ¢a & qdf ¢a s / out of the west pole into the east pole
(c) aferolr e & 3w ¢@ o= / out of the south pole in to the north pole
(d) a8 ya & gfarol ¢ga @@ / out of the north pole into the south pole

9 WIS P A gaftaa far Ser anfge
A fuse should be connected in

(a) focgemdr Hagsh & @Y S@elm & / series with neutral conductor
(b) fasyaTdT TWagsh & AT AR H / parallel with neutral conductor
(C) TOT Tagsh & AT FAAR #H / parallel with phase conductor

Page 3 of 18



Technician-B (Electrical) Question Booklet Series - D

10

11

12

13

(d) =ROT Haged & AII AW A / series with phase conductor

MCCBtws &

MCCBis
(a) Fess T IRIY s / Moulded case circuit breaker
(b) HET FF IRYY s / Main case circuit breaker
() #H& fag=or aRYY s / Main control circuit breaker
(d) #H&T T gRaer s / Main current circuit breaker

IR TAT H 3chH T GRAT FI FEd ol

The reverse breakdown phenomenon in a zener diode is known as

(a) 3radra wHTd / Avalanche effect
(b) gfer worra / Hall effect

(c) eaer gdHTT / Tunnel effect

(d) Hreier gaTa / Seebeck effect

DC SifelT & URT EMF (E) T gF & __ (0= 9 ¢a & 3iadel geehg o,
Z = IreIshl T el FEAT, N = rpm H gUleT & 99T, P = Yal & TN, A= HAIHR
gt I GEdn)

The formula to find EMF induced (E) in DC generator is ..... (® = Average magnetic

flux per pole, Z = Total number of conductors, N = speed of rotation in rpm, P = number
of poles, A = number of parallel paths)

®
@ E= 22N x Evolts
60 A

(b) E= %x%volts
(o) E= % volts

@ E=22volts
120

5 ATRTY (800W & FA) H A IifUhcaa Fehrer fSegait S Fear €

Maximum number of light points allowed in a 5 A circuit (not exceeding 800W) is

(a) 5fe=g / points

(b) 10 fe=g / points
(c) 15 =g / points
(d) 20 fe=g / points
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14

15

16

17

18

Udhel fFd qONE arer &Y afc MeX garT 3 v aRwy F aFT P) @ §
(Wla'Wg:auﬁa:ﬁaﬂ%jT)

Power (P) in a 3 phase circuit with two watt meters at unity power factor is (W1 & W, =
watt meter readings)

@ P= W, +W,
b) P= Wi-W,
() P=WxW,
d P= J2W,

Helh SYRIUN H Hehcleh &l Tollel g aRITH T g &
The force required to move the pointer in an indicating instruments is

(@) fa&T s / deflecting force

(b) fT=s s / controlling force

(c) 37aFHcsT &ef / damping force

(d) arg =¥oT 3raHe & / air friction damping force

N-ET8T 3TEETeleh & TAR &l & faT SfYer g 3uaiT fohw Si=iarer gerd §

The material used for ‘doping’ to prepare N - type semiconductor is

(@) f3T# / Indium
(b) 3ferzeT / Gallium
(c) 3RAfA® / Arsenic
(d) =tér / Silver

fohaeh TueT A oo HeX AT 3UANT AT ST 87

For which one of the following applications, DC shunt motor is used?

(@) Selfege grd AT Yo7 / Electric tram or train

(b) saifdes gisTe T el / Electric hoist or crane

() 3Tg TIfEar T & TTY dTeleT HLAT / Drives with high starting torque
(d) #efT 3SR 38ed / Machine tool drives

G RLC IRy & 37I-AIET 3gh (f;) eRor ot & fow g7 &

The formula for determining resonant frequency (f,)of series RLC Circuit is

(a) fr=+LC
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19

20

21

22

_ 1
(b) fr=7=
(c) f=2IMVLC
1

@) 1= nve

YeaTad dleedl Ul YRT H1 GRAT qur feum @ e &g el @1 F Th IR &
Y ARG fRAT Sar §1 59 Aw9er @ Ed 8l

Alternating voltages and currents are represented by straight line with an arrow to
represent the magnitude and direction. This representation is called

(a) 3tfeer &AM / Scalar quantity

(b) HEI AMET / Phasor quantity

(c) wcaradr AT / Alternating quantity
(d) rms AT / rms quantity

Hia g Ffa7 gl s W 2R Sreear ¢ar &2

Which type of generator gives a constant voltage output at all loads?

(@) TR HFI3vs AT / level compound generator

(b) H==lr FFA3US SAfTT / cumulative compound generator

(c) 3 FFur3vs HAfa / differential compound generator

(d) #@er Sifas / series generator

LT 660 V I8 UTa shided H ITANET [T SAarer dTcleh &l 14, W AR Far
gl

The diameter of conductor used in LT 660 V grade power cables depends on

(@) YdTeleAlcAs dlecdr / operating voltage

(b) erfFaaone / power factor

(c) arfgd &RT / current to be carried

(d) wgad Atk T JahR / type of insulation used

IfE v CEER & gfadae B 1 gIem A Sv aur wraffe dlecar @ o3me
frar ST ar gfadas deear e

If the secondary turns of a transformer are doubled and at the same time primary
voltage is reduced to half then the secondary voltage will

(@) 3mer / be halved
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(b) IS gRadeT =787 / not change

(c) g / be doubled
(d) =X 3= / be four times

2 oo AT F AR URT B IR (F) R
The frequency (f;) of the rotor current in an induction motor is given by the expression
(s =slip, f = supply frequency)
(@ fr=(f/s)
(b) fr=(s/f)
) f, =(s/f?)
(d) fr=(s.T)

24 Feel ol FZaRI AKX (SCIM) H AKX SR & g & fav Hefaf@d & @

el disFd ddrsv

Which of the following statement is FALSE for skewing of motor bars in a squirrel
cage induction motor (SCIM)

(2) TE I ST AshdT ¢ / it prevents cogging
(b) eI e @I Ferdr § / it increases starting torque

(c) 31T UHTHAT T T 3cdieaT / it produces more uniform torque

(d) 379 JATeleT & AT A “hum” B HH FAT &
it reduces motor “hum” during its operation

25 SafdegdE AT # 39T FFU e YedrafdT YR T BTl &

The type of alternator used in hydroelectric power stations is

(a) I Aferde diar wcarafds / non salient pole alternator
(b) @ferge drer gearafda / salient pole alternator

(c) esf SeeX / turbo generator

(d) T caTssT Ycarafas/ steam turbine alternator

26 fAEATA@T § ¥ ST @1 A, 3hdA T e Sar &

Which of the following motors will give highest starting torque?

() TUTRF FTeIC AeX / capacitor start motor
(b) Ifa¥e AT / universal motor
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(c) shaded ¢f@ Hex / shaded pole motor
(d) ufdsersr A / reluctance motor

27  THic @IS @ H dgolel A 39T RAT ST §
Scott connections are used to transform:
(a) Terel %E YT T dled =T
single phase supply into three phase supply
(b) Tl %E ITYAT T ar =T
single phase supply into two phase supply
(c) TR Hufhd UrafAe # Secr TURhd gfadigs
star connected primary into delta connected secondary
(d) e =ROT 3Tl @ ar vE 3t
three phase supply into two phase supply

28 TEBER H YA FA dlell AHT P Ashed feX & 31X 3UANT fRAT S=iarem gerdy
gl gl

Material used inside the breather to prevent moisture entering the transformer is

(a) @f3Td FeIR1ss / sodium chloride
(b) |fsT# fafeke / sodium silicate
(c) Taferer Ster / silica gel

(d) =TT Fethe / copper sulphate

29 gEEE GoRE_ @ar d

Synchronous capacitor is

(a) T aHAT TAfds e d / an ordinary static capacitor bank
(b) T 3fUR-3IATIT HGIoleh AleX Frafder JifAFr g /

an over-excited synchronous motor driving mechanical load
(c) T Az & a1 HfFH-3aT9d FAFITAF AT /

an over-excited synchronous motor running without mechanical load
(d) IITFHT oI5 & 9T TAIAT Th 3HF-3dToid oIl AL /

an under-excited synchronous motor running without mechanical load

30 4 gdg AC &I & TAT el selfeeerer f3alt gl
Total electrical degrees for a 4 pole AC machine is equal to

(@) 180
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(b) 540
() 720
(d) 900

31 g 9HR & ACH DC 9Rads & Haiite cardr &
In which type of AC to DC converter efficiency is higher :

(@) HAeX JAfAF A< / motor generator set

(b) Vedr gRad= / rotary converter

(c) AN 31Tk gRkeMerss / mercury arc rectifier
(d) Tifas Te&e aReters / solid state rectifier

32 g5 g3 aur e 3 & v dfey TIEBA T 39T BT &l
For high head and low discharge, the water turbine used is

(@) Yece drer / Pelton wheel
(b) @eusT T / Kalpan turbine
(c) hfeaw e / Francis turbine

(d) sifex gsfaT / Propeller turbine

33 e URT TR (CT) F ST o & fAfcse fFar aram §

The burden of protective Current Transformer (CT) is specified in

(a) s arT Fr gfaerd / Percentage of load current
(b) drec - TRFTR / Volt - Ampere

(c) wfdera 3qard arﬁr / Percentage Ratio error

(d) wfdera % i / Percentage Phase Error

34 TEHER W Al-els q6ToT N A F AT FAr S B

No-load test on a transformer is carried out to determine

(a) dm gIfer / copper loss

(b) %IQW $RT dUT dTtH g1f / magnetizing current and Copper losses
(c) TS URT AT =A1-A1s gIfel / magnetizing current and no — load loss
(d) TEwER &1 gaTar / efficiency of the transformer

35 Forg ‘B’ Yad® #, 3MIee UrT & fav yarga g &
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In Class ‘B’ amplifier, the output current flows for

(a) 3me geqe @ghel A A / less than half input cycle
(b) 3medr $eTqC HIgehel & 31f8 / more than half input cycle
(c) 3mdr s19e wmsher / half input cycle

(d) 9 s=19c @S / entire input cycle

36 U SCR Wi URT & WY Ulelel dd YT HWM 59
An SCR starts conducting with appreciable current when

(a) TS AT JIC G+l FOMcAS @ / anode and gate both are negative

(b) TS FHUNcA® AT T U«AlcA® & / anode is negative and gate is positive
(C) TAlS UallcAe dYUT JIC MUTcA® & / anode is positive and gate is negative
(d) TAIE T JIC al=l Yl & / anode and gate both are positive

37 T AT 3YRUT Solfdesd URT & FSHT JHT W HT HAT ¢
Which appliance works on heating effect of electric current?

(a) arfrer #&efeT / Washing machine
(b) s fAFER / Food mixer

(c) <& g@r / Table fan

(d) <rEeX / Toaster

38 e [AAA-UET T & gaTed F fAU HETF dteed ] AR Far &
Voltage required to operate a neon-sign tube depends upon

(a) Tg& T =TS / length of the tube

(b) €I T 9Ty / tube material

(c) T« =1 <ard / diameter of the tube
(d) &g« &r Aers / thickness of the tube

39 R-L-CYRYY & 37fdle R AFAI0MH g g
The Power- factor at resonance in R-L-C circuit is
(@) =T / Zero
(b) 1S / Unity
(c) 0.5 f3ter / 0.5 lagging
(d) 0.5=0f3ar / 0.5 Leading
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40

41

42

43

IR ImH SRl I TAR A ST AT 1 386 TSl A H@ell H a1 ImH aTe Wi
& Y SIST IRAT §| AT Iehdl A5

Four inductors each of inductance 1mH are connected in parallel and this combination is
connected in series with two inductors each of inductance 1mH. Calculate the equivalent
inductance?

@ 25 mH
(b) 3.75mH
(c) 2.25mH
(d) 3mH

UF 8 AT yeaafd T 750 rp.m R GOt giar §1 38T 3mgfy Bl §

A 8 pole alternator rotates at 750 r.p.m. Its frequency is

(@) 50 Hz
(b) 75 Hz
(c) 80 Hz
(d) 100 Hz

T 1000 Fic geX HF Th 240 V AC TCATS A ST 3T g1 glex H gal 9RT
_ &

A 1000 watts heater is connected to a 240 V AC Supply. Then the current drawn by the
heater is

(a) 8.006 amperes

(b) 6.106 amperes

() 5.160 amperes

(d) 4.166 amperes

al geehry gl & T HRRA ol
The force acting between two magnetic poles is

(a) Z‘{\fl‘ & '\'=|?=I1?:ID'C|1T-TF / directly proportional to the distance

(b) E@ * W / inversely proportional to the distance

(c) Z‘,\ﬁ F g & WW/ directly proportional to the square of the distance

(d) E@ F Tt & W /inversely proportional to the square of the

distance
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44

45

46

47

H-&NOT GRYY s (ELCB) & HTUR T FI AT ¢
Earth Leakage circuit breaker (ELCB) works on the basis of .....

(a) 31aferse URT / Residual current
(b) ¢ URYY €RT / Short circuit current
(c) 3aTells &RT / Overload current
(d) fTsgsTdY ¢IRT / Neutral current

Th ol Ry A

In an open circuit.....

(a) SFRIEr qUT URT QT AFT @
Resistance and current both are zero
(b) Ay g URT S 3T &
Resistance and current both are infinity
(c) 9y e & AT ORI 3HHd §
Resistance is zero and current is infinity
() SRR 30 & T ORT O &

Resistance is infinity and current is zero

A-es &1 Tyfa A Jur afasdeear & aifad da@erfes Ay $r 3R 9nT |,
When running under no-load condition and with over excitation, armature current Iy
drawn by a synchronous motor

(a) 3eI9geFd dloedm & @Y %A H § / Is in phase with the applied voltage
(b) gRomeT Steedr E, & 90° & 91 § / Lags the resultant voltage E, by 90°
(C) g VT E@RT 39 dlecdl & 9IS § / Lags the applied voltage by a small

angle
(d) 3teT9geFd aloedm & 3T & / Leads the applied voltage

¥ 7 sorgiese Hr ufa @@t & AT ST ¥

The condition of electrolyte in a battery is measured in terms of

(a) ¥RT HATT / current value
(b) fafarse getca / specific gravity
(c) 31FoT HMET / acid contents

(d) dreed 33cYe / voltage output
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48

49

50

51

52

5 9 fheex ag § St
A band pass filter is that which

() foi#T 3MGRT Hehel AT & / passes low frequency signals

(b) 3=d mﬁr Hohd ST § / passes high frequency signals

(c) ar 3TIT:IJ?T AT & T Hohd ASIAT § / passes signals between two frequency
limits

(d) ar 3-1'@:% AT & T Fohd Fr E%W HT ¢ / rejects signals between two

frequency limits

I =T & fov, ¢a qRad= fafer #H 39T ST Hehel &
For the speed control purpose, pole changing method can be adopted for

(a) Rera Rer Aex / Slip ring motor

(b) FHFIfeIe AEX / Synchronous motor

(c) Faxer ot 3T Al / Squirrel cage induction motor
(d) Teher T AreX / Single phase motor

THFITAF Hlel #, TeeX IF em.f (Ep) FHT aR&AT 9T R R §

In a Synchronous motor, the magnitude of stator back e.m.f (Ep) depends on

(@) FeEX & g7 / speed of the motor

(b) HIEX & #AR / load on the motor

(c) haer DC 3dstehar / DC excitation only

(d) ger dUT JUeX FoIFT At / both the speed and rotor flux

Y TS AT T 9 I[N FAT @I §
What is the form factor of pure sine wave?
(@) 0.11
(b) 1.01
(c) 1.00
(d) 1.11

Arfaf@a & AfSea are sia ar &2
Which one of the following is a passive device ?

(a) FET
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53

54

55

56

57

(b) SCR
(c) BJT

(d) Air core inductor

rafaf@a 3-%g At F ¥ FiF ar Aex v Terféar J8 &

Which one of the following 3-phase motors is NOT self-starting ?

(a) FHbITIR FAlEX / Synchronous motor

(b) TEFaTeT ol §3FUA HAlEX / Squirrel cage induction motor
(c) a:.—-: UeX AlY / Wound rotor motor

(d) 3¥d el AlEX / Double cage motor

T T &1 IS, Selfdgadl 3feT &I AT Fld I &

Which type of fire extinguisher is suited for extinguishing electrical fire?

(@) deT - TfAs 3P emA® / Soda — Acid Fire Extinguisher.

(b) FE - BT 3fFA aFS / Carbon — Dioxide Fire Extinguisher.
(c) WIH €89 3ifds A% / Foam Type Fire Extinguisher.

(d) 9/ Water.

araRar S, #ael AT # QST va fharfead aer g 3fed §

The wiring that needs to be planned and executed along with building construction is

(a) Fellc IIRIMT / cleat wiring
(b) SeoT arART / batten wiring
(c) @e3gc Hdg arafier / conduit surface wiring

(d) ezygc HAIes aIRIT / conduit concealed wiring

solfFcahd IRYY H AXRAT FTHIT: CaRT AT HI AT &

Continuity of an electrical circuit is usually checked by

(a) 3MHART / Ohmmeter

(b) THEY / Ammeter

(c) drec HIEX / Voltmeter

(d) erfFa #eX / Power meter

TR AT H oliSeT dleed (E) & AT § (Ep = %d dieed)
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58

59

60

The line voltage E, in a star connection is equal to.... (Ep = phase voltage)

(a) \/§ .Ep
(b) Ep

() +/3.Ep

1
V3 .Ep

(d)

e | YRT g vd V dleear &, A AFT P & @A §
If current is | and voltage is V, then power P is equal to

(@ VAl

(b) VzxI

() VxI2

(d) vxiI

dlecHIEY & WTH HI deld & faw
In order to increase the range of a voltmeter

(a) SBEIET H s AT gfeRrer & 8T S ar § / a low resistance is connected in

series

(b) FATR H T foAs=T 9fcRier &I ST S1ar § / a low resistance is connected in
parallel

(c) ’%ETHT H T 3Tg IfaRIE & SAIET AT § / a high resistance is connected in
series

(d) FHATGR H T 3T YfaY &l SIS Al & / a high resistance is connected in
parallel

forely e i enfar & FHAMIAT B &

The capacitance of the capacitor is directly proportional to the ....

(a) velc @ 9erd / material of the plate

(b) Telc FT &F% / Area of the plate
(c) vele & &I dleedr / voltage across the plate
(d) velet & & gadl/ polarity of the plates
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